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1 Introduction
Following RAN1 agreements (R1-172160), the scale factor 1/sqrt(2) in SFBC precoding is removed to allow using full trasmission power for CQI calculation:
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In order to align with RAN1 assumption, SNR requirements for semi-OL rank1 need to be revsied based on such modifications in RAN1 for transmission equaltion.
2 Discussion
2.1 Simulation assumption 
Following agreed test set-up as in current specs: 
	Test number
	Bandwidth
	MCS
	Propagation condition
	Correlation matrix and antenna config.

	
	
	
	
	

	1 (Rank1）
	10 MHz
	QPSK 1/3
	EVA 70Hz
	2x2 Medium


2.2 Simulation results 

Figure 1 and figure 2 below show the throughput vs SNR for updated semi-OL rank1 test cases (FDD and TDD).
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Figure 1: Absolute TP vs. SNR (FDD)
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Figure 1: Absolute TP vs. SNR (TDD)
We summarized required SNR point with 70% relative TP for impairment results:
	SNR for 70% TP
	FDD
	TDD

	Rank1 (new)
	2.6 dB
	2.8 dB


3 Conclusion

In this contribution, we provide impairment results for semi-OL rank1 test cases based on modifications in RAN1 for transmission equation.
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